Partial Quetients Task Cards

Answer Sheet
Nome: Date:
1) 2) 3) )
5) 6) 7) 8)
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Solve using partial quotients.

5,208 + 84

3 Find the quotient in the folowing
problem:

?7?
84JH70H
-4200 ?°?
504
- 204 7

2 [ind the missing partial quotient
needed to complete the problem:

42 )2646
-1260 30
386
-1260 30
126
- 126 7
0

Copyright © 2016 Desert Designed

1l Find the missing number from the
folowing problem:

25

34J850
-?2?7? 20

170
-170 9

O




Solve using partial quotients.

4,950 + 65

7 [nd the quotient in the folowing
problem:

P
53)3392
-3180 60

6 [ind the missing partial quotient
needed to complete the problem:

24)840
-480 ?
360

-240 10
120
-120 5
0
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8 Find the missing number from the
folowing problem:

8 I
42 )3402
-?2?2?27? 80
0042
- Y42 |
0




9

Solve using partial quotients.

4,611 + 87

Il Find the quotient in the folowing
problem:

P
63)1512
-1260 77
252
- 292 7

10 [ind the missing partial quotient
needed to complete the problem:

22)1782
-1320 60
H62
-440 ?7
22
- 22 |
0]
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12 Find the missing number from the
folowing problem:

38
44 ) 1672
-?2?27?2% 30
0352
- 392 8

0




13

Solve using partial quotients.

4,836 + 93

15 Find the quotient in the folowing
problem:

7?7
25)3075

-2500 ?7?7
979

- 200 ?7?
79

- /9 ?

iy [ind the missing partial quotient

needed to complete the problem:

35)1225
-1050 ?7?
179
-179 9
0
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16 Find the missing number from the
folowing problem:

83
54/4482
-?2?277? 80
0162
- 162 3
0
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